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Subtraction with numbers up to 20,

no regrouping

Grade 2 Subtraction Worksheet

Find the difference.

1) 15 -5 =

36 -3=

596 -2 =

7) 18 - 6 =

99 3-3=

1) 14 - 3

13) 17 - 2

15) 20 - 10 =

178 -1

1999 -1

2) 16 - 3
4 18 - 5
6) 5 -1 =
8 3 -2 =
10) 13 - 1
12)5 - 2 =
14)2 - 2 =
16) 18 - 7
18) 12 - 2
20) 20 - O
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Subtraction with numbers up to 20,
no regrouping
Grade 2 Subtraction Worksheet

Find the difference.

1) 15 -5 =10 2) 16 - 3 = 13
36 -3=23 4 18 - 5 =13
56 -2=4 6) 5-1=14
718 - 6 = 12 8)3-2=1
93-3=0 10013 -1 =12
11)14 - 3 =11 125 -2 =3
13)17 - 2 = 15 142 -2=0
15) 20 - 10 = 10 16) 18 - 7 = 11
1778 -1=7 18) 12 - 2 = 10
1999 -1 = 8 20020 - 0 = 20
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